Oligo kinase reaction

* This is used to phosphorylate oligos to be ligated into a CIPed cut vector

10µl of 1mg/ml of each oligo (+ and - strand) was added together and heated up to ~100(C in a heat block. The heat block is then turned off so that the DNA can cool down slowly. (This can also be done in a thermocycleler.) Then do the following reaction:

20µl oligo

5µl ddH2O

5µl 10x kinase buffer

10µl 10mM ATP

10µl T4 polynucleotide kinase

50µl Total

Incubate at 37(C for 1hr then 70(C for 10 min to kill reaction. Then proceed to do a ligation reaction.

